JOHN-NIRENBERG INEQUALITY FOR LIPSCHITZ MARTINGALE SPACES

YANBO REN AND CONGBIAN MA*

(Communicated by I. Perić)

Abstract. In this article, John-Nirenberg inequality for Lipschitz martingale spaces is established. We further prove that Lipschitz martingale spaces $\Lambda_p(\alpha)$ are equivalent for $0 , which generalizes an important result in classical martingale <math>H_p$ theory.

1. Introduction

John-Nirenberg inequality plays an important role in harmonic analysis. A wellknown immediate consequence of the John-Nirenberg inequality is the famous John-Nirenberg theorem, which implied the equivalence of BMO spaces (the function spaces of bounded mean oscillation) and BMO_p for $1 \le p < \infty$.

In martingale setting, John-Nirenberg inequality and John-Nirenberg theorem for BMO martingale spaces are two basic and important results in classical martingale H_p theory (see Theorem 4.1.2 in [9]). John-Nirenberg theorem for BMO martingale spaces states that martingale spaces BMO_p are equivalent for $1 \le p < \infty$. In the past decade, more attention has been paid to John-Nirenberg type theorems on various BMO type martingale spaces. Miyamoto, Nakai and Sadasue obtained a John-Nirenberg type inequality for generalized martingale Campanato spaces when the stochastic basis is regular ([10]). Hong and Mei considered the John-Nirenberg inequality for noncommutative martingales in [2]. John-Nirenberg inequalities on generalized BMO martingale spaces were studied by Jiao et al. in [3]. For other related work, one can refer to [4, 5, 6, 7, 8, 12, 13].

As we know, BMO space is a special case of Lipschitz space. What we are interested in is whether John-Nirenberg type inequality holds for Lipschitz martingale spaces, and naturally consider the problem of the equivalence of Lipschitz martingale spaces, that is, John-Nirenberg theorem for Lipschitz martingale spaces. In this article, John-Nirenberg inequality for Lipschitz martingale spaces is established. By using this inequality, we show that Lipschitz martingale spaces $\Lambda_p(\alpha)$ are equivalent for 0 , and thus the conclusion on BMO martingale spaces is extended to Lipschitz $martingale spaces. In particular, we obtain that martingale spaces <math>BMO_p$ are equivalent

Keywords and phrases: Martingale, John-Nirenberg inequality, Lipschitz space, BMO space.

This research is supported by the National Natural Science Foundation of China (No. 11871195, 11801489).

^{*} Corresponding author.



Mathematics subject classification (2020): 60G42, 60G46.

for $0 , which generalizes John-Nirenberg theorem in classical martingale <math>H_p$ theory.

This paper is divided into two further sections. In Section 2 some notions and notations appeared in this article are given. Main results and its proofs are given in the final section.

2. Preliminaries

Let $(\Omega, \mathscr{F}, \mathbb{P})$ be a complete probability space, and $(\mathscr{F}_n)_{n \ge 0}$ a nondecreasing sequence of sub- σ -algebras of \mathscr{F} such that $\mathscr{F} = \sigma(\bigcup_n \mathscr{F}_n)$. The conditional expectation operator relative to \mathscr{F}_n is denoted by \mathbb{E}_n . A martingale $f = (f_n)_{n \ge 0}$ relative to $(\Omega, \mathscr{F}, \mathbb{P}; (\mathscr{F}_n)_{n \ge 0})$ is an integrable sequence, which is adapted and $\mathbb{E}_n f_m = f_n$ for all $n \le m$. A stopping time relative to $(\mathscr{F}_n)_{n \ge 0}$ is a map $\tau : \Omega \to \mathbb{N} \cup \{\infty\}$, which satisfies $\{\omega \in \Omega : \tau(\omega) = n\} \in \mathscr{F}_n$ for each $n \ge 0$.

Let $0 , <math>\alpha \ge 0$, Lipschitz martingale spaces and BMO martingale spaces are defined as follows:

$$\Lambda_{p}(\alpha) = \left\{ f = (f_{n})_{n \geq 0} : \|f\|_{\Lambda_{p}(\alpha)} = \sup_{n \in \mathbf{N}} \sup_{A \in \mathscr{F}_{n}} \frac{\left(\int_{A} |f - f_{n-1}|^{p} d\mathbb{P}\right)^{\frac{1}{p}}}{\mathbb{P}(A)^{\frac{1}{p} + \alpha}} < \infty \right\};$$

$$BMO_{p} = \left\{ f = (f_{n})_{n \geq 0} : \|f\|_{BMO_{p}} = \sup_{n \geq 0} \|(\mathbb{E}_{n} |f - f_{n-1}|^{p})^{\frac{1}{p}}\|_{\infty} < \infty \right\}.$$

We recall that $\Lambda_p(0) = BMO_p$. For more information on the theory of Lipschitz martingale spaces and BMO martingale spaces, one can refer to [9] and [11].

Let $0 , we use <math>L_p(\mathscr{F}_n)$ $(L_p(\mathscr{F}))$ to denote the collection of p-th integrable and \mathscr{F}_n -measurable (\mathscr{F} -measurable) functions on $(\Omega, \mathscr{F}_n, \mathbb{P})$ $((\Omega, \mathscr{F}, \mathbb{P}))$.

Let X and Y be two quasi-normed spaces, we say that X and Y are equivalent (denoted by X = Y), if X and Y are isomorphic and their quasi-norms are equivalent, i.e. there exist positive constants c and C such that for all $x \in X$

$$c \parallel x \parallel_X \leqslant \parallel x \parallel_Y \leqslant C \parallel x \parallel_X .$$

Throughout this paper, we use N and Z^+ to denote the set of nonnegative integers and the set of positive integers, respectively. We use *C* and *c* to denote positive constants and may be different from one line to another.

3. Main results and its proofs

We first establish John-Nirenberg inequality for Lipschitz martingale spaces.

THEOREM 1. Let $f = (f_n)_{n \ge 0} \in \Lambda_1(\alpha)$. Then for any $n \in \mathbb{Z}^+$ and $A \in \mathscr{F}_n$, we have

$$\mathbb{P}\Big(\Big\{\omega \in A: \frac{|f-f_{n-1}|}{\mathbb{P}(A)^{\alpha}} > \lambda\Big\}\Big) \leqslant \mathbb{P}(A)e^{2}e^{-\frac{\lambda}{e\|f\|_{\Lambda_{1}(\alpha)}}}, \,\forall \lambda > 0.$$

Proof. We first assume that $||f||_{\Lambda_1(\alpha)} \leq 1$, and for any fixed $A \in \mathscr{F}_n$, set

$$g_m = \frac{f_m - f_{n-1}}{\mathbb{P}(A)^{\alpha}}, \quad m \ge n-1, \quad g^* = \sup_{m \ge n-1} |g_m|.$$

For $\lambda, \mu > 0$, define stopping times

$$T = \inf \{m : |g_m| > \lambda\}, \ \tau = \inf \{m : |g_m| > \lambda + \mu\}$$

Obviously, T > 0 and $T \leq \tau$. Define

$$T_A = \begin{cases} T, \ \omega \in A; \\ \infty, \ \omega \notin A, \end{cases} \quad \tau_A = \begin{cases} \tau, \ \omega \in A; \\ \infty, \ \omega \notin A, \end{cases}$$

it is easy to see that $T_A \leqslant \tau_A$ and $|g_{T_A-1}\chi_A| \leqslant \lambda$, we then have

$$\begin{split} \sigma_{A}(\lambda+\mu) &:= \mathbb{P}(\{g^{*} > \lambda+\mu\} \bigcap A) = \mathbb{P}(\{\tau_{A} < \infty\}) \\ &\leqslant \mathbb{P}\left(\left\{T_{A} < \infty, |g_{\tau_{A}} - g_{T_{A}-1}| = \frac{|f_{\tau_{A}} - f_{T_{A}-1}|}{\mathbb{P}(A)^{\alpha}} \geqslant \mu\right\}\right) \\ &\leqslant \frac{1}{\mu} \int_{\{T_{A} < \infty\}} \frac{|f_{\tau_{A}} - f_{T_{A}-1}|}{\mathbb{P}(A)^{\alpha}} d\mathbb{P} \\ &\leqslant \frac{1}{\mu} \int_{\{T_{A} < \infty\}} \frac{|\mathbb{E}((f - f_{T_{A}-1})\chi_{A} \mid \mathscr{F}_{\tau_{A}})|}{\mathbb{P}(A)^{\alpha}} d\mathbb{P} \\ &\leqslant \frac{1}{\mu} \mathbb{P}(\{T_{A} < \infty\}) \left\|\frac{\mathbb{E}((f - f_{T_{A}-1})\chi_{A} \mid \mathscr{F}_{\tau_{A}})|}{\mathbb{P}(A)^{\alpha}}\right\|_{\infty}. \end{split}$$

If we set $M = \left\| \frac{\mathbb{E}((f - f_{T_A - 1})\chi_A | \mathscr{F}_{\tau_A})}{\mathbb{P}(A)^{\alpha}} \right\|_{\infty}$, and for arbitrary $\varepsilon > 0$, define $A_1 = \left\{ \omega \in A : \frac{\mathbb{E}((f - f_{T_A - 1})\chi_A | \mathscr{F}_{\tau_A})}{\mathbb{P}(A)^{\alpha}} > M - \varepsilon \right\}$,

then we have

$$M \leqslant \left\| \frac{(f - f_{T_A - 1}) \chi_A \chi_{A_1}}{\mathbb{P}(A)^{\alpha} \mathbb{P}(A_1)} \right\|_1 \leqslant \sup_{B \in \mathscr{F}_{T_A}} \left\| \frac{(f - f_{T_A - 1}) \chi_B}{\mathbb{P}(B)^{1 + \alpha}} \right\|_1 \leqslant \| f \|_{\Lambda_1(\alpha)}$$

Hence

$$\sigma_A(\lambda+\mu) \leqslant \frac{1}{\mu} \mathbb{P}(\{T_A < \infty\}) \parallel f \parallel_{\Lambda_1(\alpha)} \leqslant \frac{1}{\mu} \sigma_A(\lambda).$$

Now take $\mu = e$ and $\lambda = ke$, we get

$$\sigma_A((k+1)e) \leq \frac{1}{e}\sigma_A(ke) \leq \mathbb{P}(A)e^{-k}, \ k \in \mathbb{Z}^+.$$

Since $\sigma_A(\lambda)$ is decreasing, for $\lambda \in [e, +\infty)$ with $ke \leq \lambda < (k+1)e$ $(k \in \mathbb{Z}^+)$, we have

$$\sigma_A(\lambda) \leqslant \sigma_A(ke) \leqslant \mathbb{P}(A)e^2e^{-\frac{\lambda}{e}}.$$

The above inequality still holds for $0 < \lambda < e$, since

$$\sigma_A(\lambda) \leqslant \mathbb{P}(A)e \leqslant \mathbb{P}(A)e^2e^{-\frac{\lambda}{e}}.$$

For any $f = (f_n)_{n \ge 0} \in \Lambda_1(\alpha)$, if we replace f above with $\frac{f}{\|f\|_{\Lambda_1(\alpha)}}$, then the desired inequality is obtained. \Box

Now let us turn to consider the equivalence of Lipschitz martingale spaces, for which we need to provide several lemmas first.

Let A be a measurable set, we use χ_A to denote its characteristic function.

LEMMA 1. (1) If $0 , then for each <math>a \in L_p(\mathscr{F}_n)$ with $||a||_p \leq 1$, it can be approached by $\sum_{k=1}^m \lambda_k \frac{\chi_{A_k}}{\mathbb{P}(A_k)^{\frac{1}{p}}}$ in $L_p(\mathscr{F}_n)$, where $\sum_{k=1}^m |\lambda_k|^p \leq 1$.

(2) If $1 \leq p < \infty$, then for each $a \in L_{p,1}(\mathscr{F}_n)$ with $||a||_{p,1} \leq 1$, it can be approached by $\frac{1}{p} \sum_{k=1}^m \lambda_k \frac{\chi_{A_k}}{\mathbb{P}(A_k)^{\frac{1}{p}}}$ in $L_{p,1}(\mathscr{F}_n)$, where $\sum_{k=1}^m |\lambda_k| \leq 1$.

Proof. It is easy to obtain (1) from the approximation properties of integrable functions. Now we only give a proof for (2).

Here we only consider the case of nonnegative functions. In general, we can consider the positive part and the negative part respectively according to the general practice. Since simple functions are dense in $L_{p,1}(\mathscr{F}_n)$, then for each nonnegative function $a \in L_{p,1}(\mathscr{F}_n)$ with $||a||_{p,1} \leq 1$, it can be approached by positive simple functions $\sum_{k=1}^{m} \mu_k \chi_{B_k}$, and $||\sum_{k=1}^{m} \mu_k \chi_{B_k}||_{p,1} \leq 1$. Suppose that $\{\mu_1, \dots, \mu_m\}$ is decreasing, it can be calculated that

$$\|\sum_{k=1}^{m} \mu_{k} \chi_{B_{k}}\|_{p,1} = p((\mu_{1} - \mu_{2})\mathbb{P}(B_{1})^{\frac{1}{p}} + (\mu_{2} - \mu_{3})(\mathbb{P}(B_{1}) + \mathbb{P}(B_{2}))^{\frac{1}{p}} + \dots + \mu_{k_{m}}(\mathbb{P}(B_{1}) + \dots + \mathbb{P}(B_{m}))^{\frac{1}{p}}).$$

Now set

$$\begin{split} \lambda_1 &= p(\mu_1 - \mu_2) \mathbb{P}(B_1)^{\frac{1}{p}}, \\ \lambda_2 &= p(\mu_2 - \mu_3) (\mathbb{P}(B_1) + \mathbb{P}(B_2))^{\frac{1}{p}}, \\ \dots \\ \lambda_{m-1} &= p(\mu_{m-1} - \mu_m) (\mathbb{P}(B_1) + \dots + \mathbb{P}(B_m))^{\frac{1}{p}}, \\ \lambda_m &= p\mu_m (\mathbb{P}(B_1) + \dots + \mathbb{P}(B_m))^{\frac{1}{p}} \end{split}$$

and

$$A_k = B_1 + \dots + B_k,$$

it is clear that $\sum_{k=1}^{m} |\lambda_k| \leq 1$, and

$$\sum_{k=1}^{m} \mu_{i} \chi_{B_{k}} = (\mu_{1} - \mu_{2}) \chi_{B_{1}} + (\mu_{2} - \mu_{3}) \chi_{B_{1} + B_{2}} + \dots + (\mu_{m-1} - \mu_{m}) \chi_{B_{1} + \dots + B_{m-1}} + \mu_{m} \chi_{B_{1} + \dots + B_{m}} = \frac{1}{p} \sum_{k=1}^{m} \lambda_{k} \frac{\chi_{A_{k}}}{\mathbb{P}(A_{k})^{\frac{1}{p}}}. \quad \Box$$

LEMMA 2. (1) Let $0 , <math>\alpha \geq 0$, $f = (f_n)_{n \geq 0} \in \Lambda_p(\alpha)$, $T_n : L_{\frac{p}{p\alpha+1}}(\mathscr{F}_n) \to L_p(\mathscr{F})$ be a linear operator with $T_n a = (f - f_{n-1})a$, $n \in \mathbb{N}$, then $\sup_{n \in \mathbb{N}} || T_n || = || f ||_{\Lambda_p(\alpha)}$.

(2) Let $1 \leq p < \infty$, $\alpha \geq 0$, $\frac{p}{p\alpha+1} \leq 1$, $f = (f_n)_{n\geq 0} \in \Lambda_p(\alpha)$, $T_n : L_{\frac{p}{p\alpha+1}}(\mathscr{F}_n) \to L_p(\mathscr{F})$ be a linear operator with $T_n a = (f - f_{n-1})a$, $n \in \mathbb{N}$, then $\sup_{n \in \mathbb{N}} ||T_n|| = ||f||_{\Lambda_p(\alpha)}$.

(3) Let $1 \leq p < \infty$, $\alpha \geq 0$, $\frac{p}{p\alpha+1} \geq 1$, $f = (f_n)_{n\geq 0} \in \Lambda_p(\alpha)$, $T_n : L_{\frac{p}{p\alpha+1},1}(\mathscr{F}_n) \to L_p(\mathscr{F})$ be a linear operator with $T_n a = (f - f_{n-1})a$, $n \in \mathbb{N}$, then there exist positive constants c and C such that

$$c \parallel f \parallel_{\Lambda_p(\alpha)} \leq \sup_{n \in \mathbf{N}} \parallel T_n \parallel \leq C \parallel f \parallel_{\Lambda_p(\alpha)}.$$

Proof. We only show that (1) holds, (2) and (3) can be proved in a similar way. It is easy to obtain that $\sup_{n \in \mathbb{N}} || T_n || \ge || f ||_{\Lambda_p(\alpha)}$, if we take $a = \frac{\chi_A}{\mathbb{P}(A)^{\frac{1}{p}+\alpha}}$, $A \in \mathscr{F}_n$. For the converse, by Lemma 1, for each $a \in L_{\frac{p}{p\alpha+1}}(\mathscr{F}_n)$ with $|| a ||_{\frac{p}{p\alpha+1}} \le 1$, it can be approached by $\sum_{k=1}^{k_m} \lambda_k^{(m)} \frac{\chi_{A_k^{(m)}}}{\mathbb{P}(A_k^{(m)})^{\alpha+\frac{1}{p}}}$ in $L_{\frac{p}{p\alpha+1}}(\mathscr{F}_n)$, where $\sum_{k=1}^{k_m} |\lambda_k^{(m)}|^{\frac{p}{p\alpha+1}} \le 1$, $m \in \mathbb{Z}^+$. Hence there exists a subsequence that converges almost everywhere, denote it still by $\left\{ \sum_{k=1}^{k_m} \lambda_k^{(m)} \frac{\chi_{A_k^{(m)}}}{\mathbb{P}(A_k^{(m)})^{\alpha+\frac{1}{p}}} \right\}_{m\ge 1}$. By Egoroff theorem and the property of absolute continuity of Lebesgue integral, we have

$$\| (f - f_{n-1})a \|_{p}^{p} = \lim_{m \to \infty} \left\| \sum_{k=1}^{k_{m}} \lambda_{k}^{(m)} (f - f_{n-1}) \frac{\chi_{A_{k}^{(m)}}}{\mathbb{P}(A_{k}^{(m)})^{\alpha + \frac{1}{p}}} \right\|_{p}^{p}$$

$$\leq \lim_{m \to \infty} \sum_{k=1}^{k_{m}} |\lambda_{k}^{(m)}|^{p} \frac{\| (f - f_{n-1})\chi_{A_{k}^{(m)}} \|_{p}^{p}}{\mathbb{P}(A_{k}^{(m)})^{p\alpha + 1}}$$

$$\leq \lim_{m \to \infty} \sum_{k=1}^{k_{m}} |\lambda_{k}^{(m)}|^{\frac{p}{p\alpha + 1}} \frac{\| (f - f_{n-1})\chi_{A_{k}^{(m)}} \|_{p}^{p}}{\mathbb{P}(A_{k}^{(m)})^{p\alpha + 1}}$$

$$\leq \| f \|_{\Lambda_{p}(\alpha)}^{p},$$

from which we obtain

$$\sup_{n\in\mathbf{N}} \|T_n\| \leqslant \|f\|_{\Lambda_p(\alpha)}. \quad \Box$$

LEMMA 3. ([1]) Let $0 and <math>0 < \theta < 1$, if (A_0, A_1) and (B_0, B_1) are two couples of quasi-normed spaces, and if T is a linear operator

$$T: A_0 \to B_0, \ T: A_1 \to B_1$$

with the quasi-norms M_0 and M_1 respectively, then

$$T: (A_0, A_1)_{\theta, p} \to (B_0, B_1)_{\theta, p}$$

with quasi-norm $M \leq M_0^{1-\theta} M_1^{\theta}$.

LEMMA 4. ([1]) Suppose that $0 < p_0 < p_1 \leq \infty$, $0 < q, q_0, q_1 \leq \infty$ and $0 < \theta < 1$, then 1 - A A 1

$$(L_{p_0,q_0}, L_{p_1,q_1})_{\theta,q} = L_{p,q}, \ \frac{1-\theta}{p_0} + \frac{\theta}{p_1} = \frac{1}{p}$$

THEOREM 2. Let $0 , <math>\alpha \ge 0$, then $\Lambda_p(\alpha) = \Lambda_1(\alpha)$.

Proof. For $1 \leq p < \infty$, by Theorem 1 we have

$$\mathbb{P}(A)^{-\frac{1}{p}-\alpha} \parallel (f-f_{n-1})\chi_A \parallel_p$$

$$= \mathbb{P}(A)^{-\frac{1}{p}} \left(p \int_0^\infty s^{p-1} \mathbb{P}\left(\left\{ \omega \in A : \frac{|f-f_{n-1}|}{\mathbb{P}(A)^\alpha} > s \right\} \right) ds \right)^{\frac{1}{p}}$$

$$\leq \left(p \int_0^\infty s^{p-1} e^2 e^{-\frac{s}{e^{\|f\|_{\Lambda_1}(\alpha)}}} ds \right)^{\frac{1}{p}}$$

$$\leq C \parallel f \parallel_{\Lambda_1(\alpha)},$$

it follows that

$$|| f ||_{\Lambda_p(\alpha)} \leq C || f ||_{\Lambda_1(\alpha)}.$$

For the converse, by Hölder inequality, we have

$$\| f \|_{\Lambda_1(\alpha)} = \sup_{n \in \mathbf{N}} \sup_{A \in \mathscr{F}_n} \frac{\| (f - f_{n-1}) \chi_A \|_1}{\mathbb{P}(A)^{1+\alpha}}$$

$$\leq \sup_{n \in \mathbf{N}} \sup_{A \in \mathscr{F}_n} \frac{\mathbb{P}(A)^{\frac{1}{q}} \| (f - f_{n-1}) \chi_A \|_p}{\mathbb{P}(A)^{1+\alpha}} = \| f \|_{\Lambda_p(\alpha)},$$

where $\frac{1}{p} + \frac{1}{q} = 1$. For 0 , by Hölder inequality, we have

$$\| (f - f_{n-1}) \chi_A \|_p \leq \mathbb{P}(A)^{\frac{1}{q}} \| (f - f_{n-1}) \chi_A \|_1,$$

where $\frac{1}{p} = \frac{1}{q} + 1$, from which we know that $||f||_{\Lambda_p(\alpha)} \leq ||f||_{\Lambda_1(\alpha)}$. For the converse, we choose $p_0 \in (1,\infty)$ such that $\frac{1-\theta}{p} + \frac{\theta}{p_0} = 1$ for some $\theta \in (0,1)$. Now we consider the linear operator $T_n a = (f - f_{n-1})a$, $f = (f_n)_{n \ge 0} \in \Lambda_1(\alpha)$ (note that here $f = (f_n)_{n \ge 0} \in \Lambda_p(\alpha)$ and $f = (f_n)_{n \ge 0} \in \Lambda_{p_0}(\alpha)$). If $\frac{p_0}{p_0 \alpha + 1} \leq 1$, then we consider T_n as $T_n : L_{\frac{p}{p\alpha + 1}}(\mathscr{F}_n) \to L_p(\mathscr{F})$ and $T_n : L_{\frac{p_0}{p_0 \alpha + 1}}(\mathscr{F}_n) \to L_{p_0}(\mathscr{F})$, respectively. Note that $(L_p, L_{p_0})_{\theta,1} = L_1, (L_{\frac{p}{p\alpha + 1}}, L_{\frac{p_0}{p_0 \alpha + 1}})_{\theta,1} = L_{\frac{1}{1+\alpha},1}$ by Lemma 4, it follows from Lemma 3 that

$$\|T_n\|_{L_{\frac{1}{1+\alpha},1}(\mathscr{F}_n)\to L_1(\mathscr{F})} \leq \|T_n\|_{L_{\frac{p}{p\alpha+1}}(\mathscr{F}_n)\to L_p(\mathscr{F})}^{1-\theta}\|T_n\|_{L_{\frac{p_0}{p_0\alpha+1}}(\mathscr{F}_n)\to L_{p_0}(\mathscr{F})}^{\theta}$$

Hence by Lemma 3 we have

$$c \parallel f \parallel_{\Lambda_{1}(\alpha)} \leq \parallel f \parallel_{\Lambda_{p}(\alpha)}^{1-\theta} \parallel f \parallel_{\Lambda_{p_{0}}(\alpha)}^{\theta} \leq C \parallel f \parallel_{\Lambda_{p}(\alpha)}^{1-\theta} \parallel f \parallel_{\Lambda_{1}(\alpha)}^{\theta},$$

from which we obtain

$$\|f\|_{\Lambda_1(\alpha)} \leqslant C \|f\|_{\Lambda_p(\alpha)} .$$
⁽¹⁾

If $\frac{p_0}{p_0\alpha+1} > 1$, then we consider T_n as $T_n : L_{\frac{p}{p\alpha+1}}(\mathscr{F}_n) \to L_p(\mathscr{F})$ and $T_n : L_{\frac{p_0}{p_0\alpha+1},1}(\mathscr{F}_n) \to L_{p_0}(\mathscr{F})$, respectively. Similar to the above proof, we can still obtain (1). \Box

COROLLARY 1. Let $0 , then <math>BMO_p = BMO_1$.

Acknowledgement. We would like to express our sincere appreciation to the reviewers for their helpful suggestions.

REFERENCES

- [1] T. HOLMSTEDT, Interpolation of quasi-normed spaces, Math. Scand., 26, 1 (1970): 177–199.
- [2] G. HONG, T. MEI, John-Nirenberg inequality and atomic decomposition for noncommutative martingales, J. Func. Anal., 263, 4 (2012), 1064–1097.
- [3] Y. JIAO, L. WU, A. YANG AND R. YI, The predual and John-Nirenberg inequalities on generalized BMO martingale spaces, Trans. Amer. Math. Soc., 369, 1 (2016), 537–553.
- [4] Y. JIAO, G. XIE AND D. ZHOU, Dual spaces and John-Nirenberg inequalities of martingale Hardy-Lorentz-Karamata spaces, Quart. J. Math., 66, (2015), 605–623.
- [5] Y. JIAO, D. ZHOU, Z. HAO AND W. CHEN, Martingale Hardy spaces with variable exponents, Banach J. Math. Anal., 10, 4 (2016), 750–770.
- [6] L. LI, A Remark on John-Nirenberg Theorem for Martingales, Ukrain. Math. J., 70, 4 (2019), 1812– 1820.
- [7] K. LIU, D. ZHOU, Dual spaces of weak martingale Hardy-Lorentz-Karamata spaces, Acta Math. Hungar., 151, 1 (2017), 1–19.
- [8] K. LIU, D. ZHOU AND L. PENG, A weak type John-Nirenberg theorem for martingales, Statist. Probab. Lett., 122, (2017), 190–197.
- [9] R. LONG, Martingale spaces and inequalities, Peking Univ Press, Beijing, 1993.
- [10] T. MIYAMOTO, E. NAKAI AND G. SADASUE, Martingale Orlicz-Hardy spaces, Math. Nachr., 285, (2012), 670–686.

- [11] F. WEISZ, Martingale Hardy spaces and their applications in Fourier analysis, Lecture Notes in Math, vol. 1568, Spring-Verlag, 1994.
- [12] L. WU, Z. HAO AND Y. JIAO, John-Nirenberg inequalities with variable exponents on probability spaces, Tokyo J. Math., 38, 2 (2015), 353–367.
- [13] R. YI, L. WU AND Y. JIAO, New John-Nirenberg inequalities for martingales, Statist. Probab. Lett., 86, (2014), 68–73.

(Received September 8, 2022)

Yanbo Ren School of Mathematics and Statistics Yancheng Teachers University Yancheng 224002, P.R. China e-mail: ryb7945@sina.com

Congbian Ma School of Mathematics and Information Science Xinxiang University Xinxiang 453003, P.R. China e-mail: congbianm@whu.edu.cn